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Section A: (28 x 2 marks = 56 marks)

For each question from 1 to 28, four options are given. One of them is the comrect
answer. Make your choice (1, 2, 3 or 4) and shade the correct oval on the Optical
Answer Sheet.

1. The diagram below shows our digestive system.

Study statements A to D carefully.

A Both P and Q produce digestive juice.

B The digestion of food is completed in R.

C Water is absorbed from the undigested food in S.

D Digested food is absorbed into the bloodstreamin T.

Which of the above statements is/are correct?
(1) Donly
(2) AandBonly

(3) BandConly
(4 A,CandDonly
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2. The diagram below shows the development of organism X from eggs.

eggs of Xin
human wastes early larval stage
@ develops inside snail
—-d-—-"‘—'—u-.‘__‘*

T S larvae complete

their development
N in water
: A e .

adult X develop | P
in hurfnans v;"ho ‘\N / larvae develop
eat infected fish C protective capsule in

. —— fish muscle to protect
infected, undercooked fish X in its pupae and

- adult stage

The diagram above shows that organism X

(1)  dies when it enters the fish

(2) completes its life cycle in the snail

(3) depends on other organisms for survival

(4) can be Killed easily with heat during cooking
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Parts A and B in the diagram below represent the different parts of a plant.
The arrows X and Y show the transportation of water or food from one part
of the plant to another part of the plant.

part A
) Xl Y
X
stem < partB
Y
Which of the following correctly represents part A, part B, arrow X and arrow
Y? :
. -Arrow X Arrow Y Part A PartB
(1) food water flower leaf
(2) .- .food water leaf roots
(3) “water food leaf roots
(4) | . water - food leaf flower
4. The diagram below shows mushrooms growing on a rotting log.
mushrooms

Which of the following statements are correct when the mushrooms act on
the rotting log? -

A They release oxygen inlo the air.

B They release carbon dioxide into the air. .

C They provide food and nutrients for the rotting log.

D They break down the rotting log into simple substances.

(1) AandConly
(20 AandDonly
(3) BandConly
(4 BandDonly
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5. The table below provides a description of some physical factors in four

different habitats.
Habitats
Physical Factors
A B C D
Amount of moisture Low Low High High
Light intensity Low High High Low
Average temperature (°C) 23 18 25 21

Organism X has the following characteristics:

o thrives in a damp environment -

o prefers to stay in a dark environment

¢ most active when the surrounding temperature ranges from 20 °C

to25°C

Based on the given information, in which habitat wouldyou find the greatest

number of organism X?

(1) A
(2) B
(3 C
4 D
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6. Four boys made some statements.

Plants get their
food from the
soil through the
foots.

Food chains also

A change in the

show the flow of
prey population will
energy from one :
only affect the
org:gtiﬁm to population of the
another. predator that feeds

on the prey.

Who made the correct statement(s)?

(1)  Chris only

(2) Ben and Chris only

(3) Ahmad and Dawei only

(4) Ahmad, Ben and Dawei only

ENG/MATH/CL at https://www.sgtestpaper.com/



7. The table below shows-four animals, A, B, C and D, and the types of food

the_y eat.
Animals Type of food consumer
A animal-eater
B plant-and-animal-eater
Cc animal-eater
D plant-eater

Which of the following shows a possible food relationship among the
organisms?

) cy

=
\ e

R IR

plants C— A

/'
AN AN
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8. The flow chart below provides information on the characteristics of four
different organisms.

<3

canbe seen with | Y€S

>

naked eyes " X
lNo No
Y

=<

Ino

/'

Two characteristics of living things are represented by the letters X and Y. ‘
Based on the information in the flow chart, which characteristics are best
represented by the letters X and Y respectively?

X Y
1) Can rmx :g ec:‘an ges Reproduces by spores
(2)| Canrespondto changes Makes its own food
@) Moves fr:‘:r: é)l(a)::‘ to place Reproduces by spores
) Moves fr;rn; tglgvcvo; to place Makes its own food
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9. Four students, Abdul, Bala, Charles and Ding Ding, observed a cell under
a microscope.

cytoplasm cell wall

cell membrane nucleus

They observed that the cell has the following cell parts and they made the
following statements:

Student Statement
Abdul ltis a plant cell because it has a cell wall.
Bala Itis an animal cell because it has no chloroplast.
Charles It is a plant cell because only plant cells have a cell
membrane.
Ding Ding Itis an animal celf because only animal cells have a
nucleus.

Whose statement(s) is/are correct?

(1)  Abdul only

{(2) Balaonly

(3)  Abdul and Charles only
(4) Bala and Ding Ding only

10.  Which of the following statements correctly show the similarities between
the sexual reproduction in humans and in flowering plants?

A Both require pollination to take place before fertilisation.

B Both require male and female reproductive parts for
reproduction.

C Both the ovaries will swell and become fruits and the ovules
will become seeds.

D Both the male reproductive- cell will fuse with the female
reproductive cell during fertilisation.

(1) AandConly
(2) B8 and D only
(3) A,BandDonly
(4) B,CandDonly
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11.  The diagram below shows how blood circulates in a human body.
Amrows A, B, C, D, E and F represent the blood vessels.

All other parts of the body

A\

\
Which blood vessels contain blood rich in oxygen?

(1)
(2
(3)
O

B and C only

A, D and E only
B, C and F only
A, D, E and F only

A

12.  Which of the following statements about food made during photosynthesis

are correct?
A Food made by plants will be stored as starch.
B Food made by plants provides them with the energy to carry
out life processes.
C Food made in the leaves is transported to all parts of the
. plant.
D Photosynthesis only takes place in the parts of the plants
with chlorophyil.
(1) AandDonly
(2) BandConly
(3) B,CandDonly
4) A, B,CandD
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13.  Agroup of Primary 6 pupils counted the number of plants and animals found
in the school pond. They recorded their findings in the chart shown below.

Organisms
Plants Animals
More
Fully Partiailly . . .
submerged submerged Floating No legs Six legs m?er; :IX
4 6 10 10 15 5

Based on the information in the chart above, which of the following

statements about the plants and animals are correct?

(1)
(2)
(3)
4)

oOm>

pond.

A and B only
C and D only
A, C and D only
A,B,CandD
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There was only one community.
There were 50 populations in the school pond.
There were fewer insects than plants in the school pond.

e populations of animals in the school




14. Animals X, Y and Z are organisms living in a grassland habitat.
The food chain below shows the food relationships among the organisms.
grass —» X —> Y {—— Z }

The graph below shows the population size of X for the last 5 years. .

Number of X

A

Q

4 } y $ } » Time (years)

Which of the following statements describe the possible causes for the
change in the population of X from point P to Q7?

A There was a prolong period of drought.

B There was a decreass in the population of Z.

C The birth rate of X was greater than its death rate.

D A disease-causing organism killed the population of Y.

(1) AandBonly
(2) CandDonly
(3) A,BandDonly
(4) B, CandDonly

: 11
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15.  Study the food web below.
T
/
P\ \ U
Q ——————— S

When animal T migrated out of the habitat, the number of animal Q remains
the same.

Which of the fdllowing graphs shows how the populations’of R, Sand U are
most likely to be affected?-

2

S

g
>

Number of organisms =
Number of organisms

~
W
~
-~
E-Y
~

Number of organisms
Number of organisms
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16. Study the food web given below. U, T, W, X, Y and Z represent organisms
in the food web.

X ~

X | vy |[€<——| W

"\/

Z

Which of the following statements about the food web is/are correct?

(1)
(2)

(4)

A There is only one food producer.

B There are more animal-eaters than plant-eaters.

C Organism U transfers energy directly or indirectly to all other
organisms in the food web. ,

D A decrease in the number of organism T will affect the
population of all the other organisms in the food web.

A only
D only
A and B only
C and D only
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17.  Josh uses his mobile phone to watch his favourite movie clip.

Which of the following correctly identifies the useful energy and the
unwanted energy of his mobile phone?

Useful energy Unwanted energy
(1) Heat Energy Light Energy + Sound Energy
(2) | Heat Energy + Light Energy Sound Energy
(3) | Heat Energy + Sound Energy Light Energy
(4) | Light Energy + Sound Energy Heat Energy

18.  Which of the following statements about forces are correct?

A A force can stop a moving object.

B A force can move an object at rest.

C A force can change the shape of an object.

D A force can change the speed of a moving object.

(1) AandDonly
(2) BandConly
(3) A,BandDonly
(4 A/B,CandD
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19. Hannah carried out an experiment to find out the strength of four different
materials, E, F, Gand H.

| }———— retort stand
material

weight

She added weights until the materials broke. The table below shows the
number of weights that each material could hold before it broke.

: ) Number of weights added
Type of materials before the materiat broke
E - 6
F 3
G 8
H 10
Arrange the materials according to their strength, starting from the
weakest to the strongest.
Weakest >  Strongest
1) F E G H
(2 F G E H
(3) H E G F
(4) H G E F
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20. Alesea tied five balls of the same size each to a string and hung them at
different heights as shown in the diagram below.

LSS LS S S S
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She then cut the strings and let the five balls drop on the tray of sand. She
measured the depth of depression made by each ball in the sand and
recorded the resulits in the table below.

Ball A B C D E
Depth of depression
made by the ball in 5 4 2 2 1
the sand (cm)

Which of the following statements is/are correct?

Ball E has less gravitational potential energy than ball C.

Ball A has more gravitational potential energy than ball B.
Ball B has the same amount of gravitational potential energy
as ball D.

Comparing balls of the same mass, the greater the height of
the ball above the ground, the greater the amount of
gravitational potential energy it possesses.

n ZBRPTO

(1) Qonly

(2) PandRonly
(3) P,QandS only
4) P,Q,RandS
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21. A spring is compressed and released at X. it moves to Y as shown in the
diagram below. The graph shows the amount of different forms of energy
possessed by the spring at X.

Energy (units)

. Forms of
T energy

elastic gravitational kinetic
potential potential energy
ground energy _energy.

4 ///////////////////////////

Which of the-following graphs shows the arhounts of different forms of
energy possessed by the spring at Y before it hits the ground?

(1) (2)
Energy (units) Energy (units)
4 N 4

Forms of
N energy

f Forms of
'-:-. e energy

elastic gravitational kmetic elastic gravitational kinetic

patential potential energy potential potential energy
energy  energy energy  energy

3) &)

Enf-rgy (units) Energy (units)

B Forms of S Forms of
> PR cnergy
elasﬁc gravrtaﬁonal k‘"eﬂc elastic gravitatlonal knnetic
potential potential  energy potential potential  energy
energy  energy energy  energy
17
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22. Study the diagram below.

a.l
o) position A
. |
Keith | |
position B
centfe point

Joshua

Joshua and Keith were playing see-saw in the playground. A see-saw is a
long, narrow board supported by a single centre point. When Joshua moves

down, Keith will move up.

From position A, Keith moves down to position B and he moves up to
position A again. The cycle repeats itself.

Which of the following graphs shows the amount of gravitational force acting
on Keith when he moves up and down on the see-saw?

(1 » 2 4
X )
oc oc
= =
E -
g S Position 58 Posiﬁon
A B A A B A
(3) 4 4 4
b
:g g ) = s |
g b
=8 1
O Position ¢, Position
A B A A B A
18
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23. Elizabeth wanted to find out which liquid is the best lubricant for reducing
friction between two surfaces. She set up the experiment as shown in the
diagram below.

She coated the surface of the ramp with liquid P and released the plastic
box at point X. She repeated the experiment three times and measured the
time taken for the plastic box to reach Point Y.

point X
plastic box

ramp

wooden block -

.........

W2
The experiment was then carried out with liquids Q, Rand S.

The table below shows the average time taken for the plastic box to reach

Point Y.
Type of Average time taken for the block to
liquid reach point Y (s)
P 2.3
Q__ 3.6
R- 0.8
S 1.9

Which of the following shows the correct order of liquids, starting from the
liquid that reduces the most amount of friction to the liquid that reduces the
least amount of friction between the plastic box and the surface of the ramp?

Reduces the Reduces the
most amount — » least amount
of friction of friction
1 Q P S R
(2) Q S P R
(3) R P S Q
(4) R S P Q
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24. Three rods, J, K and L, were tied to three similar strings and mounted onto
the ceiling. Two strong magnets, T and U, were brought near the rods as
shown below.

LLLLL L L L L S S A S S S
1

moved moved did not
A awa move
away v,
rod J N rod K N rod L
) S
magnet T magnet U

Which of the following are possible explanations for the above observations?

Rod J must be a magnet.

Rod L must be a magnet.

Rod K and rod L are made of magnetic materials.

There is a magnetic force of repulsion between rod K-and
magnet T.

<Xg<

(1) Vand Xonly
(2) VandY only
(3) V,XandY only
(4) W, XandY only
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25.  Nadnawants to find out which pond allows the most amount of light to reach
the fully-submerged plants. She poured the same amount of water from
three different ponds into each beaker and conducted the experiment in a
dark room as shown in the diagram below.

Set-up A ~ Set-upB Set-up C In a dark
(water from pond A) {water from pond B) (water from pond C) room

) &

1E| )&
glass beaker

with black paint

gt P ot ———-"—] only at the sides

light sensor
connected to
data-logger

Nadna recorded the amount of light detected by the light sensor for the three
set-ups. She took three readings for each set-up and calculated the average
of the readings. The table below shows the average reading for each

set-up.
Set-up | Average amount of light detected by the light sensor {unit)
A 1000
B 2150
| C 3300

Based on the results above, which of the following statements is/are correct?

S Water from pond A allows the fully-submerged plants to carry
out photosynthesis at the fastest rate.
T Water from pond C allows most amount of light to reach the
fully-submerged plants.
U Set-up B allows more light to reach the fully-submerged plants
than set-up C.
(1) Tonly

(2) SandTonly
(3) SandUonly
(4 S, TandU

21
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26. The diagram below shows an electric circuit. The batteries and bulbs are all

working properly.
bulb 1
@ . S1
o082
L IR ]
sS4/, bulb 2

-Which pair of switches must be closed in order for both bulbs to light up?

(1) StandS2
(2) Stands4
(3) S2andS3
(4) S2ands4
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27. The diagram below shows four vessels, V, W, X and Y, that are connected
to the same base. Only the opening of vessel Y is covered with a stopper.

Zena poured a jug of water through vessel V, the water level rose to
position A for vessels V, W and X but not for vessel Y.

vessel V vessel W vessel X

position A

stopper

Based on the information provided, which of the following statements best
explains why the water level in vessel Y is lower than the water level in the
rest of the vessels?

(1)
2

3
(4)

The air in vessel Y has mass and does not have a definite volume.
The water has a definite volume and cannot be compressed in vessel
Y. .

The air in vessel Y occupies space and cannot escape out of the
vessel.

The water does not have a definite shape and takes the shape of the
different vessels.
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28.  Henry set up the experiment as shown below. He used the same amount of
water to make the ice-cubes in both set-ups 1 and 2.

Set-up 1

air-tight cover
_glass beaker

L ice cubes

500 electronic

Henry recorded the mass of both set-ups over a period of 7 minutes and
plotted the line graph below.

Mass (g)

i

530

520

510

» Time (min)

Which of the following statements best explain the difference in the increase
in mass for both set-ups over fime?

1)
(2)
(3)
4

ENG/MATH/CL at https://www.sgtestpaper.com/

A The mass of ice cubes in set-up 2 is more than in set-up 1 at

the start of the experiment.
B The exposed surface area of the ice cubes in set-up 2 is more
than in set-up 1.
C The surface of the beaker in set-up 2 is cooler than set-up 1
from the 2™ minute to the 7 minute.
D More air condenses on the cooler surface of the beaker in set-
up 2 than in set-up 1.
A and D only
B and C only
B, C and D only
A, B,CandD-
End of Booklet A
24
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Saction B: (44 marks)

Write your answers to question 29 to 40.

The number of marks available is shown in brackets [ ] at the end of each question or
part question.

29.

(a)

(b)

(©)

ENG/MATH/CL at https://www.sgtestpaper.com/ 1 3

Plant A grows bigger and faster than other plants.
The diagram below shows a man cutting down plant A.

Scientists think that the roots of plant A might produce a chemical that stops
other plants from growing near them. How does this help plant A to grow better?
(1]

Give another reason why hardly any other plants can grow under the bushes of
plant A. ]

After plant A and their roots are cleared away, there will not be any of the
chemical in the soll. What will happen to the population of other plants growing
there? Explain why. N

Score




30.

()

(b)

(c)

Study the food web shown below.

How are the feeding relationships of the mice different from the feeding
relationships of the other animals in the food web? (11

How many food chains are there in the food web? 1]

Explain how the energy for all the organisms in the food web can be traced
back to the sun. (1]

ENG/MATH/CL at-https://www.sgtestpaper.com/
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31. The diagram below shows the structure of flower X.

(a) What is the function of part A? _ 1

(b) Bees are often seen visiting flower X. Describe how the bees help to pollinate
flower X? ' [1]

(c) How would the removal of part B affect flower X? Explain your answer ciearly.
(1]

Score 3
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32. Joanne recorded some observations about the aquatic plants in her school
pond over a period of 3 months. The table below shows her findings.
animal Z
Month Number of plantX - Number of plant Y
January ) 20 16
February 35
March - 85
(a) From the table above, what is the relationship between the number of plant X
and the number of plant Y? [1]
(b)  Give an explanation for your answer in (a). [11
(¢) The organisms in the pond are interdependent on one another.
(i) State one way how plant X and plant Y can benefit animal Z. 1]
Plant X: _
PlantY:_
(i}  Explain how animal Z can benefit plant Y. (11
ENG/MATH/CL at https://www.sgtestpaper.com/ 4
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33.

(a)

(b)

ENG/MATH/CL at https://www.sgtestpaper.com/ 5

Effect on A and reason: _

The diagram below shows a food web in a sea community.
D F
C / E

plant A

\

plantB

In the food web above, is there an organism that is both a prey and a predator?
Explaln your answer. 1]

\

A large number of D were caught by fishermen. The number of F remained the
same. How would the population of plant A and the population of E change? .
Explain your answers. ' 2]

Effect on E and reason: _ | _

Score 3




(a)

(b)

(c)

ENG/MATH/CL at https://www.sgtestpaper.com/

Jie Zhi tried out grchery at an archery range. He wants to find out how the
distance, d, between the bow and bow string would affect the distance travelled

by the arrow.

He recorded his resuits as in the table below.

Distance, d, Distance travelled by the arrow (m)
between the A
"bow and bow | 1%t Reading | 2" Reading | 3’ Reading Rve:l:;ge

string (cm) eading
50 53 52 54 53
55 61 63 65 63
60 76 73 73 74

Name the form of energy present in the stretched bow string. {11

Based on the results, explain how the distance between the bow and the bow
string affects the distance travelled by the arrow. [2]

Besides changing the distance between the bow and the bow string, suggest
another way to increase the distance travelled by the same arrow. {11

6 Score 4




35. Jayden dropped a toy soldier attached to a canopy of 1000 ¢m? at a certain
height. He used a stopwatch and measured the time taken for the toy soldier to
fall to the ground. He wanted to find out if the size of the canopy affects the time
taken for the toy soldier to fall to the ground.

canopy

string

toy soldier

. Average time taken for the toy
Set-up | Size of canopy (em?) | o jier o fall to the ground (s)
A 1000 B 3.1
B 900 : 2.7
] 800 - ?
D 700 1.8

(a) What could be the average time taken for the toy soldier to fall to the ground
when the size of canopy is 800 cm?? M

(b)  Name the force(s) acting on th‘e toy soldier as it falls to the ground. 1]

(c) Suggest two changes to the experimental set-up if Jayden wanted to find out if
the mass of the toy soldier affects the average time taken for the toy soldier to
fall to the ground. [2]
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36. Joachim set up the electric circuit as shown below. He used five identical bulbs
and two identical batteries in the set-up. The four objects, A, B, C and D, were

made of different materials.
B1 S4
—l[F——">
[ {
S1 B2 Object A
ObjectB
BS

The table below shows the combination of switches that were closed and the
bulbs that lighted up respectively.

Switches that were closed Bulbs that lighted up
S1 and S4 _ B1 and B2
S1,S2andS4 . B1 and B2
S$1, 82, §3 and S4 B1, B2, B4 and BS
(a) Based on the information provided above, which of the objects, A, B, C and D,
are electrical conductors? Give a reason for your answer. _ 21

(b) Name a suitable material for object C. 1]
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37._ Jonathan set up the experiment helow during his Science lesson.

LS

string

:

i

paper spiral

__W‘Z— nichrome wire

When the switch is closed, Jonathan observed that the paper spiral started

spinning after some time.

(a) State the energy conversion that caused the paper spiral to spin.

in batteries in electric in nichrome
circuit wire
in paper
- spiral

Mo

heat energy |-

in the air

1

kinetic energy

" in the air

(b) Jonathan then added more batteries in series to the circuit. What will happen to

the paper spiral after some time?

[
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(c) In 1898, MrAlfred and his team came up with the idea of creating a solar updrait
tower as shown in the diagram below. The tower draws in surrounding air and
makes use of the heat from the Sun to heat up the air. The heated air then
moves to tum the turbine and generate electricity.

‘width of

i tower
%

Simplified model of
Solar Updraft Tower

tower

height of
tower

e e B B B Y

solar panels as
a heat collector

surrounding

alr is drawn
N into the tower
(= —b  —> — — — — G

Name the two sources of energy that enable this tower to work. {11

—
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(d) Using-computer simulations, the team designed four models, P, Q, Rand S, by
changing two variables, the height of the tower and width of the tower. The
speed of the air in the tower Is measured and recorded.

Variable 1 Variable 2 Results
Model Helght of the Width of the tower | Speed of alr in the
tower (m) (m) tower (km/h)
P 60 6 70
Q 60 12 80
R 120 6 140
S 120 12 160

With reference to the table above, which one of the variables have a greatér
effect on the results? Explain your answer by comparing the different models.
{2]

ENG/MATH/CL at https://www.sgtestpaper.com/ : 11 Score 2




38.

(a)

Dr Natalie wants to develop a pen with an erasable ink that can be erased in
the shortest time. At the same time, she wants to ensure that the ink does not
reappear easlly after being erased.

In her development of the ink, she discovered that it is possible to use heat to
make the ink colourless.

eraser

pen tip (ink flows out from here)

Dr Natalie tested the pen with four different inks, F1, F2, F3 and F4. She
recorded the time taken for her to erase the ink using a special machine. The
machine applies the same amount of force throughout the erasing process to
ensure that it is a fair test. She recorded some observations from her testing in
the table below.

Observations
Ink | Time taken to erase the ink (s) Time ?:::p?arrt::; ink to
F1 0.5 4
F2 0.4 3
F3 0.3 Ink does not reappear
F4 1.2 ink does not reappear
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Using the information provided, which ink, F1, F2, F3 or F4, is the most suitable
ink to be used in the pen that Dr Natalie wants to develop? Explain your answer.
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(b) How can the eraser on the pen cause the ink fo become colourless? Explain
your answer using the concept of forces. 1}

(c)  Dr Natalle did more tests and found out that when she tried to use the pen to
write on a piece of paper placed on the vertical wall, the ink did not flow out.
Explain why. - {1l
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39.

(a)

(b)
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Elsie set up the experiment as shown below.
rod A rod B

/

:

]
JIIT]

T
T

./

paper clips

| o o R R |

|

When the switch was closed, some of the rods were able to attract some paper
clips. Elsie counted the number of paper clips that were aftracted to the rods
and recorded her results in the table below.

Rod | Number of paper clips attracted when the switch was closed
A 0
B 4
C ‘ 6
When the switch was closed, some of the paper clips were atfracted to rods B
and C. Explain why. [11
Name one suitable material for rod A. Explain your choice. 1]




(c) Elsie continued to-add batteries connected in series to the circuit. She counted
the number of paper clips that was attracted to rod B.

Number of paper clips
attractedtorod B

A
8
6
4 P $52%  Number of

4228 batteries

2 Q ¢ connected in

N

&\\ series

. MALAN >
1 2 3 4 5 6

When the humber of batteries connected in series increases to more than four,
she noticed that the number of paper clips attracted to rod B stays the same.
Give two reasons for her observations. [2]

Reason 1: _

Reason 2: _
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40. Faizal wants to find out which containers, A, B or C, that are made of different

materials can keep his coffee hot for the longest period of time. He poured
coffee at 100 °C into each container,

container A containér B container C
ﬂ it
£ X
i 1
I VI A

(@) Which vahable(s) should Faizal keep the same to ensure a fair test? 1]

Place a tick (v) in the box{es) next to the variable(s) that should be kept the
same.

Variable Keep the same

The amount of coffee in each container.

The time taken for the coffee to reach 50 oC.

The type of materials used to make the container.

The thickness of materials used to make the container.
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(b)

(c)
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Faizal recorded the change in the temperature of coffee over time and plotted
the graph as shown below.

Temperature of coffee in the containers (°C)
A

...

e
e~

......
S,

-, - =~ —~— -
“~...  —~ContainerA

- Contalner B
Contalner C
> Time (min)
Which container, A, B or C, is the most suitable for keeping the coffee hot for
the longest period of time? Explain your answer. ‘ B V3

Faizal changed the aim of the experiment to find out which container, A, Bor C,
is the most suitable to keep his cold drink cool for the longest period of time. He

corded the change in the temperature of the cold drink over time and plotted
the graph as shown below.

Wirite letters ‘A’, ‘B’ and ‘C’ in the correct boxes below to show the change in
the temperature of the cold drink in the containers over time. 1]

Temperature of cold drink in the containers (°C)
4

» Time (min)

End of Booklet B
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SCHOOL

NAN HUA PRIMARY SCHOOL

LEVEL : PRIMARY 6
SUBJECT :  SCIENCE
TERM : 2019 SA1
SECTION A
Q1 | Q2 | @3 | Q4 | @5 | @6 | Q7 | a8 Q9 | Q10
1 3 2 a 4 1 3 4 1 2
Q11| Q12 [ Q13 | Q14 | Q15 | Q16 | Q17 | Q18 | Q19 | Q20
3 3 3 1 3 2 4 4 1 3
Q21 | Q22 | Q23 | Q24 | Q25 | Q26 | Q27 | Q28
1. | 4 4 2 1 2 3 2
SECTION B

Q29) | a)lt will reduce the number of plants that will compete with it for
space, water nutrients and sunlight.

b)The plants will not be able to receive sunlight and the rate of
photosynthesis will decrease and thus they will not be able to make
food.

c)The other plants will reproduce and their population will increase

as there will be less competition for resource.

Q30) | a)The mice is the only omnivore.
b)6 food chains.
¢)The plants obtain sunlight from the sun to make food. The animals

in the food web depend directly or indirectly on the plants for food.
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Q31)

a)To produce pollen grains.

b)Bees can rub its body on the stigma and pollen grains from the
anther of another flower can fertilised with the ovary and become a
fruit.

c)Flower X will not be able to make fruits. Without part B, there will
be no female sex cell to fertilise with the pollen grains of the male

reproductive part.

Q32) | a)When the number of plant X increase, the number of plant Y
decrease.
b)As ‘X’ increase, its covers most surface of the pond, preventing
sunlight from reaching Y. Hence Y will not receive enough sunlight
to make food and some of them will die.
c)i)Plant X : Provide:Z with shade.
Plant Y : Animal Z can hide in plant Y to hide away from their
predators.
ii)its droppings pfoiride nutrients for Y’s growth.
Q33) [a)No.CandE are on‘l'y. prey. D and F are only predators.
b)Effect on A and reason :
The population of plant A will decrease. When D decrease, less
predators will feed on C thus the population of C will increase. When
C increase more predators will feed on plant A thus the population
of plant A will decrease.

Effect on E and reason :

‘E’ will increase. D feeds on C. Thus, a decrease in D would lead
to an increase in the number of C. Since the population of F stays
the same and it feeds on both C and E, F would eat more C and
fewer E, causing population of E to increase.

Q34) | a)Elastic potential energy.

b)As the distance between the bow and bow string increase, the

distance travelled by the arrow also increase. There is more elastic
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potential energy in the stretched bow string to be converted to more
kinetic energy in the arrow.

c)Use a bow string that is more stiffer.

Q35) |a)2.3s
b)Air resistance and gravity.
c)Replace the canopies in set-ups B, C and D with a same canopy
size of 1000cm?. Ensure the mass of the toy soldier in every set-up
is different.

Q36) | a)A,B,D. When the switch is closed, there is a closed circuit and
electric current is able to flow through objects A, B and D to light up
light bulbs B1, B2, B4 & B5.
b)Plastic.

Q37) a)

Chemical Electrical | heat heat
potential —> energy —> energy —> energy :
energy
Kinetic Kinetic
energy | energy
b)it will spin at a faster speed.
c)Sun and wind.
d)The height of the tower. By comparing models P and R, when the
height of the tower increases, the speed of air in the tower increases
more than when the width of the tower increases in models P and Q.
Q38) [ a)F3. The time taken to erase the ink is the fastest and the ink does

not reappear, thus ink F3 should be used in the pen Dr Natalie wants

to develop.
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b)When the eraser rubs on the surface of the ink, there is friction
between eraser and ink. The heat produced caused the ink to
become colourless.

c)The ink was pulled away from the pen tip due to gravity.

Q39) | a)When the switch is closed, there is a closed circuit where electric
current can flow through the rods B and C. The rods become
electromagnets.
b)Wood. Rod A is made of non-magnetic material and cannot be
magnetised.
c)Reason 1: There is no more space for more paper clips to be
attracted to rod B.

Reason 2 : The magnetic force is not strong enough to attract
another paper clip.

Q40) |a) - T

v

b)Container A. The temperature of the coffee remained the highest.
it is tue poorest conductor of heat as the coffee loses the least
amount of heat to the surrounding air.

c)

c

B
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